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QUESTION 1

Open Replicator will be used to move data from a CLARiiON array to a Symmetrix VMAX array. The CLARiiON has not
been discovered by the host from which the Open Replicator commands are issued. 

Which information has to be specified in the Open Replicator device file? 

A. symdev=arrayid:device and wwn=CLARiiON_device_WWN 

B. symdev=rrayid:device and clardev=arrayid:device 

C. wwn=array id:Symmetrix_device_WWN and wwn=array id:CLARiiON_device_WWN 

D. symdev=arrayid:device and clardev=arrayid:CLARiiON_device_WWN 

Correct Answer: A 

 

QUESTION 2

What Unisphere for VMAX section is used to monitor and terminate VLUN migration sessions? 

A. Data Protection 

B. Storage 

C. System 

D. Performance 

Correct Answer: A 

 

QUESTION 3

Refer to the Exhibit. 
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What is the correct state for the Standard and R1-BCV prior to issuing a symreplicate start command? 

A. Synchronized 

B. Split 

C. Suspended 

D. Write Enabled 

Correct Answer: A 

 

QUESTION 4

In a single-hop SRDF/AR setup, the options have been set as follows: 

-Cycle Time = 3000 

-Delay Time = 0 

-Overflow = Next 

The symreplicate session was started at time 0. The actual cycle time was 4500 seconds. 

How many seconds after the start of the first cycle will the next cycle start? 

A. 3000 

B. 4500 

C. 6000 

D. 9000 
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Correct Answer: C 

 

 

QUESTION 5

Where is the scope of a project is documented? 

A. Statement of Work 

B. Configuration Guide 

C. Test Plan 

D. Design document 

Correct Answer: A 
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